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2. (a) A company is considering an investment proposal
requiring an initial outlay of Rs. 1,00,000. The
relevant cash flows from the projects X and Y are
as follows :

Year Cash flows after tox
XY

1 50,000 20,000

30 000 24 000

3 20 000 36 000

4 Nit
5 24,000 16 000

6 12,000 8,000

If cost of capital is lOVo, compute:

(i) Net Present Value

(ii) Payback Period.

(D Determine the Weighted Average Cost of
Capital of the company. It had been palng
the dividends at the consistent tate of 20Vo

per annum.

(ii) What difference will it make if the current
price of Rs. lfi) share is Rs. 160?

Assume the income tax rate is 407o
" rrri+ fto + H t f{q qs-tr d rr$ t,

qq-fl sfl {il 8s,oo,ooo

t2qa wt W 80,00,0fi)

187o 11relrr rEu[ 95,00,000

(D qiq* q1 {ufr q,r qrR-d eltsa {iu m
+1fqq r q-g 20vo xlnqd +1 sqn < t arqiv
srtTrdHer{frtr

(i0 Rr 3rm IT}rn qR roo qo * :fv *r efqn
qFI 160 {o t ?

3Tr{s{ 41 qI 407o qrF{q t 9

, (b) Discuss q)nsequences of paucity of working
/ capitaland excessive working capital.
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1. (a) "The modern approach is an improvement over
the traditional approach of Financial Manage-
ment." Do you agree?

"{ffiq FrxiFT EFr sTrgf{s srfqrrq q{ {.TR t
qT{qR-s eTlrrrrc c-t r" tHr 3Trq sdrril t ? 10

(b) "A rupee of today is not equal to the rupee of

"3Il!T st q:;r dIFIr q;d + S6 wi * 
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,gr{r$ qcTiFr6-dr dt *frF{crff-fr${ qlerrc 6r
qrdq-{rd-d {f,tsq +1fqq r I

6. Differentiate between (attempt any three);

(a) Systematic Risk and Unsystematic Risk

(b) Market value weights and Book value

(c) Permanent working capital and T..poruly
working capital

(d) Discounting and Compounding

(e) Modern and Traditional approach of Financial

Management.

er<d'< qifsq (+Yi ft,tt,

(a) q{furd frfisc s erqqFert *fsc
(b) ErqR {fl ,IE aql 5w6 {FI
(c) wr<l orftn-d {cl aw eqf€r 6rffi {fr
(d) {€ tqT dql {Ir{ 6sTI

(e) F-at+ q-{*I * 3TrgF{s 6q1 qrqfrfr erfq{q t

5x3=1i
7. (a) The following information has been extracted

from the balance sheet of Mayank Ltd.
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Also discuss whether the project should be

accepted or not.

Ycar Yrar Ye!r Ycar Ycar YEar Year Ycar Ycar Ycar

loVo , 3 4 5 6 1 8 9 10

PVF 0.999 0.826 o.751 0.683 0.621 0.564 0.513 0.467 0.424 0.386

c.vF 1.1 1.21 1.331 7.4U 1.611 1.Tfz 1.949 2.244 2.358 2 594

qfi 6,ryfi l,oo,ooo to * qnFrr+ fiam qrd

F+*s rsre q{ B-{F 6( rfr t r qfi*s{r x nQIr

Y * H sqfq( t-*E retE f{q t:

qR {fr +t srrrt 107, t, fr rp;a alfluq:

(i) f++o q-dqn qiaT

(ii) t+s 3l-cfq I

{s-sr 4 Rfi dfrq f6 cRnt{{r +1 d"sR
f+qr qlt qr 16r r

6

I I

(t

Equity share capital

12Vo debentwes

18/o Term I-oal

85,00,000

80,00,000

95,00,000

E{' 6,{ t {R fuF lsIE
XY

1 50,000 20,000

2 30,000 24,M
., 20,000 36,000

4 Nil 50,000

5 24,OOO 16,000

6 12,fim 8,000

({ E{ qd s{ q{ s{ q{ q{ q{ q{ s{
lOVa 1 2 3 4 5 6 1 8 9 10

PVF 0.909 0.826 0.751 0.683 0.621 0.564 0.513 0.461 0.424 0 386

cvF 1.1 l.2r r.331 I .464 1.611 1.772 r.949 2.244 2.354 2.594
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3.(r)

(b)

7I8154

(b) What are the various techniques of capital
budgeting? Explain Payback period method and
Profitability Index (PI) with their advantages and
disadvantages.

{fr s-qfrrr +1 En{q n-q;fr* wr {z }*+ er+lu

frfq rw drrrsrft-dr Es.sts GD * r++1 firc s
ErFd Rf6d {Irflr{q I 6

"qnrqR-6 eTlrFrc +E Efi {rfirr i Nt srfqrn aqr

NOI sTfqrrq + si-{t" EFrr errr F6rd t?
{Frgr{q | 7

(b) What are the assumptions and implications of NI
approach? Is there an optimal capital structure as

per NI approach?

NI srfqm + ff6drr{ ffir qrqil( Hr {? +qT

NI erfq'rq * qun +i Sl-gq-eae ffr {r+qr

tz 8

5. (a) A company earns Rs. 5 per share, it is capitalized
at a rate of. lOVa and has a rate of return on
investment of 76Vo. According to Walter's model
what should be the price per share at 50Vo

dividend pay-out ratio? Is this optimum pay-out
ratio according to Walter?

\rS i5-q{l 5 5o Xm 3NI z5I FIIq +'CffrI t r Tt
tovo fi {t c{ {qtrrd F+'qr qrdr t r aqr {€ .n
f{+$ +t qrc{i *1 1{ t6vo t r sr€n q-rsm +
3[{€R Tflqq f4 50o/o erqtv t-sTrsc aqcrd c{
iltyr 6r {g +{r *rr? qrfi * s$IR Hr q-6

iorrsz ergvn srgcrr t z 7

(b) Critically evaluate Modigliani-Miller approach of
dividend irrelevance.

v t
;.1A mmpany has declared dividend of Rs. 4 last

year and expected growth in dividend is 87o. Fiud
the cost of equity capital if the current price of
the share of the company is : (i) Rs. 25, (ii) Rs. 35.

g* 6qfr t nr6& s{ 4 do 6r Erctyr dfrd GFcr

?II I qlcf{I d q-dcrkd qk <t sz t r qrm {S
+t arm {rd qifqq cR q'rrfi * dv qr *fcn
{fl (D 2s 5o, (ii) 3s do t | 10

Differentiate between specific cost and overall
cost of capital. Discuss the various methods to
calculate cost of equity and cost of debt.

fqfrrs flrrrd fl:n {fr +1 q{oi grrrd { orfr\
irfrr{q I ETr +1 qrrr iTqr s[dr qt arrra ftt qvHr

qii * fqnrq r0+1 +r Rqq dfqq I s

4. (a) "The. traditional approach is the middle path
between NI and NOI approach." Do you agree?
Explain.
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